



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right) - \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{3}\right) + \frac{3}{4} = \frac{13}{12} = 1\frac{1}{12}$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{19}{40}\right)$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{5}\right) = \left(-\frac{11}{30}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{107}{216}$$

$$\left(\frac{3}{5}\right) - \frac{1}{3} = \frac{4}{15}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{79}{150}$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{109}{250}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{3}{8}\right)$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{2} = \left(-\frac{123}{250}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \frac{2}{5} = \frac{23}{45}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) = \frac{25}{54}$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{7}{10}\right)$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{2}{5}\right) = \frac{1}{5}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{5}{64}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{3}{4} = \frac{371}{500}$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{3}\right) = \left(-\frac{2}{3}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{29}{192}\right)$$